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  : (1)            

  (2)          

 

1. (A) (i)           ?     

   7 

  (ii)             : 7 

   x = 
100 – p

3  , [ ] 

   C = 5x2 + 4x, [ ]  

           ?    

         

                         

  (i)           P = 60 –  x  ,  x = 36  

        7 

  (ii)  y = x2 . log 


1

x  ,    , x2 .  
d2y
dx2 – x  . dy

dx + 2x2 = 0 7 
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 (B)     : ( )   4 

  (i)         

  (ii)             

  (iii)  y = 
1
x  ,  d

2y
dx2      

  (iv)  f(x) = 6x4 ,  f" (2)     

  (v)  AR = 10  MR = 5 ,          

  (vi)    x = 20 – P ,  x = 10          

 

2. (A) (i)               

        ?   7 

  (ii)     :  7 

   (a) 
.

.(x
2 – x–1) dx 

   (b) 
.

.(x
4 + 4x + 4) dx 

   (c) 
.

.
e5x + e–5x

ex   dx 

                         

  (i)     ?       7 

  (ii)      :  7 

   (a) 


2

9
.
.

 x 
11 – x +  x 

 dx 

   (b) 
.

.
x – 2
x + 5 dx 
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 (B)     : ( )   4 

  (i)  MC = 5        

  (ii)  MR = 18x ,         

  (iii) 
.

.  x5 dx = __________. 

  (iv) 
.

.e
px + q dx = __________. 

  (v) 
.

.a
7x dx = __________. 

  (vi) 
.

.
1

9 x + b  dx = __________. 

 

3. (A) (i)     m    A (x1, y1)       

   7 

  (ii) (a)   x  y   5  7  :       

  7 

   (b)  (5, k – 1)  (2, – 1)       (10, –1)  (0, k) 

         k       

                         

  (i)   A (x1, y1)  B (x2, y2)           7 

  (ii) (a) x – 2y + 15 = 0  3x + y – 4 = 0        

2x – 3y + 7 = 0          7 

   (b)  2x + ny + p = 0    y –   : : 12   1   

n  p       
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 (B)     : ( )  3 

  (i)   (3, 5)  (–4, –7)           

  (ii)      4x = 5y    y :     

  (iii)         

  (iv) “        ”      ?  

  (v)      5           

 

4. (A) (i)             n    

n         7 

  (ii) (a)    10    230    4    44    

14       7 

   (b)    n    5n2 + 3n    11      

                          

  (i) 8 + 88 + 888 + …… n        7 

  (ii) (a)      15    10   11    11 : 13 

,   20       7 

   (b) 2  202   4       ?        

   
 

 (B)     : ( ) :  3 

  (i)  Sn   n     ,     n        

  (ii) P  Q            

  (iii)    n          

  (iv)    n          

  (v) 2, 2, 2 2   8      

_________________ 
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(Hindi Version) 

 

  : (1)            

  (2)          

 

1. (A) (i)         f(x) = 3x2 + 5    
    7 

  (ii)      :  7 

   (a) y = 
3x2 + 4x + 5

2x2 – 3
  

   (b) y = x10 . log x + 15 

   (c) y = e3x2
 – 4x + 5 

                          

  (i)      (x + 3) (y + 2) = 10  dy
dx     7 

  (ii)      :  7 

   (a)  y = 5. e4x + 3 e–4x ,     dy
dx + 12. e–4x = 20 e4x.   

   (b)  y = 
1 + x
1 – x  ,     (1 – x2) 

dy
dx = 2y.  
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 (B)     : ( ) 4 

  (i)        ?  

  (ii)  f(x) = log (x + 1) ,  f ' (1)    

  (iii)  f(x) = 3x2 + 12x  f ' (x, = 24 ,  x     

  (iv)  f(x) = 
1
x2 ,  f ' (– ½)     

  (v)     (chain rule)    

  (vi)             
 

2. (A) (i)           ?     
   7 

  (ii)             : 7 

   x = 
100 – p

3  , [ ] 

   C = 5x2 + 4x, [ ]  

            ?    
         

                         

  (i)          P = 60 –  x  ,  x = 36   
       7 

  (ii)  y = x2 . log 


1

x  ,     x2 .  
d2y
dx2 – x  . dy

dx + 2x2 = 0 7 

 

 (B)     : ( )   4 

  (i)          

  (ii)             

  (iii)  y = 
1
x ,  d

2y
dx2     

  (iv)  f(x) = 6x4 ,  f '' (2)     

  (v)  AR = 10  MR = 5 ,          

  (vi)    x = 20 – P ,  x = 10          
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3. (A) (i)    ?     7 

  (ii)             : 7 

 
2010 2018 

    
A 78 26 120 30 

B 120 15 200 20 

C 72 12 135 15 

D 50 5 120 10 

E 28 7 45 9 

                          

  (i)          ?      
    7 

  (ii)        (family budget method)   
  (total expenditure method)     :  7  

   

2010 2018 

A 100 8.00 12.00 

B 25 6.00 7.50 

C 10 5.00 5.25 

D 20 48.00 52.00 

E 75 15.00 16.50 

F 30 9.00 27.00 
 

 (B)     : ( )  3 

  (i)        ?  

  (ii)  PoQ1 : P1Q1 = 2 : 3 ,  IP     

  (iii)          ?  

  (iv)                

  (v)  -     : 137.5  142 ,    
     

  (vi)               ?    
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4. (A) (i)                  
  7 

  (ii)            (seasonal 

variations)    7 

  
 

   
2015 55 65 45 
2016 52 70 50 
2017 70 80 55 
2018 82 86 80 

                         
  (i)          :  7 

   (a)   

   (b)   

   (c)    

  (ii)              
(trend)           7  

  2006 2007 2008 2009 2010 2011 

  196 199 200 198 206 210 

  2012 2013 2014 2015 2016 2017 

  200 212 220 210 222 230 

 

   (B)     : ( ) 3 

  (i)             

  (ii)       111.5, 95.7, x, 91.7 ,  x   
      

  (iii)              

  (iv)       57, 68.5, 59.2, 72.3 ,     
       

  (v)     ?   

_________________ 


